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General Instructions :

Read the following instructions carefully and follow them :

(i)
(i)
(ii1)
(iv)

(v)

(vi)

(vii)

This questions paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A - Questions no. 1 to 17 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 18 and 19 are Source-based questions. Each
question carries 3 marks.

Section C - Questions no. 20 to 23 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

Section D - Questions no. 24 to 28 are Long Answer type questions. Each
question carries 5§ marks. Answer to these questions shall be written in 120 to
150 words.

Section E - Questions no. 29 and 30 are Map based questions. Each question
carries 5 marks.

(viii) In addition to this, NOTE that a separate question has been provided for

Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

(ix) There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in a sections other them Section A.
SECTION A
Questions no. 1 to 17 are Multiple Choice Type Questions. 17x1=17
1. Read the following sources of land pollution carefully and choose the
correct option :
L. Improper human activities
II. Untreated industrial waste
ITII. Practice of primitive subsistence agriculture
IV. Use of pesticides and fertilizers
Options :
(A)  Only I, II and III are correct (B) Only II, III and IV are correct
(C)  OnlylI, II and IV are correct (D) Only I, III and IV are correct
2. “Building human capacities in the areas of health, education and access

to resources is the key to increasing human development.” The above
statement is related to which one of the following approaches of human
development ?

(A) Income Approach (B) Welfare Approach

(C) Basic Needs Approach (D)  Capability Approach
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3. In which one of the following countries has ‘co-operative farming’ been

the most successful ?

(A) Denmark (B) Germany
(C) France (D) England
4, Which one of the following is an example of solid waste ?

(A) Kitchen discarded items
(B)  Polythene bags
(C) Plant leaves and branches

(D)  Old newspapers

5. Which of the following are the correct two terminal places of ‘North-South
Corridor’ ?
(A) Srinagar and Kanyakumari
(B)  Delhi and Kanyakumari
(C)  Amritsar and Chennai

(D)  Srinagar and Chennai

6. Which of the following sea ports in India has been developed specially to
import petroleum and fertilizers ?

(A)  Mumbai (B) Marmagao
(C) Kandla (D)  Kochchi
7. Arrange the following commodities of Indian export during 2016 — 17 in

descending order of their percentages and choose the correct option :

L. Crude and petroleum products
II. Manufactured goods
III. Agriculture and allied products

IV. Ore and minerals

Options :
A LILIIIV B) I, I IV,III
(C) IHILILIIV (D) ILIILI IV
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8. Match Column I with Column IT and choose the correct option :

Column I Column I1
(Railway Zones) (Headquarters)
1 North Eastern (1)  Jabalpur
2 West Central (i1) Hajipur
3. East Central (ii1) Secunderabad
4 South Central (iv) Gorakhpur
Options :
(A)  1-(1), 2-(iv), 3-(iii), 4-(ii)
B)  1-(1), 2-(iv), 3-(ii), 4-(iii)
C)  1-(iv), 2-(1), 3-(ii), 4-(iii)
(D) 1-3v), 2-(1), 3-(iii), 4-(ii)

9. Which of the following is an example of ‘Entrepot Port’ ?
(A) Abadan (B) Maracaibo
(C)  Singapore (D)  Tripoli

10. Which of the following sea route connects Vancouver and Yokohama ?
(A)  South Atlantic sea route
(B)  North Pacific sea route
(C)  North Atlantic sea route
(D)  Mediterranean — Indian Ocean sea route

11. Two statements are given below as I and II. Read both the statements
carefully and choose the correct option :
Statement I : Most of the quaternary activities can be outsourced.
Statement II : These services are not necessarily based on resources and
market.
Options :

(A) Statement I is correct, but Statement II is incorrect.
(B) Statement I is incorrect, but Statement II is correct.

(C) Statements I and II both are correct and Statement II is the
correct explanation of Statement I.

(D) Statements I and II both are correct, but Statement II is not the
correct explanation of Statement I.
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12. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option :
Assertion (A) : Manpower is an important component of the service
sector.

Reason (R): Most of the tertiary activities are performed by skilled
labour and professionally trained experts.

Options :

(A) (A)is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation

of (A).

(D) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

13. Match Column I with Column II and choose the correct option :

Column I Column I1
(Industry) (Example)

1 Agro-based (1) Soaps

2 Forest-based (i) Salts

3. Chemical-based (111) Lac

4 Product-based (iv) Vegetable oil

Options :

(A 1-(i), 2-(1v), 3-(i1), 4-(1)

(B)  1-(ii1), 2-(iv), 3-(i), 4-(ii)

(C)  1-(iv), 2-(iii), 3-(ii), 4-(1)

(D)  1-(iv), 2-(ii1), 3-(1), 4-(ii)

14. Read the following factors of migration carefully and choose the correct
option related to ‘push factor’ :

L. Peace and stability
II. Protection of property
III. Epidemics

IV. Unpleasant climate

Options :
(A)  Only I and II are correct (B) Only IT and III are correct
(C)  Only IIIl and IV are correct (D) Only I and IV are correct
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Study the given diagram carefully and answer . No. 15 to 17 :

15.

16.

17.

National Waterway

(A)

(B)

The given diagram is related to which of the following National
Waterways of India ?

(A) National Waterway Number 2

(B) National Waterway Number 3

(C) National Waterway Number 4

(D) National Waterway Number 5

Mark (A) on the diagram is related to which of the following places ?

(A) Kakinada (B)  Dhubri

(C)  Kottapuram (D) Sadiya

Mark (B) on the diagram is related to which of the following places ?
(A) Kollam (B) Haldia

(C)  Dibrugarh (D) Vallamkali

64/3/2-13 11 WAV NN P.T.O.



Fie: FHECTRIT J97 #acT gIEaTiaa ghgniaal & 77 y97 G&ar 15 8 17 & €

WE
15. fafafea o @ w9-a1 TS STommt aed v g ?
(A) TSI JTent J&T 1 (B) USSR oW & 2
(C) TS Towmt & 3 (D) USHT TAHTT |&T 4
16. TSI Somml & 2 & gy fFfafga o fra @t a g 2
(A) T (B) uf@m
(C) &g (D)  wEMe
17. TS SN &I 2 & QA Aqd TAFT O Geftd g8l faeed &1 wwd
hHISTT |
(A) TETRS — gfeea (B)  TETeRl — s eI
(C) e — Has A4l (D) wfeE — garly
Qs g
97 G 18 TF 19 Gid-3TeRa F97 & | 2x3=6

18. fiu U M@ #1 LAFYdd HAeRA HIfT R 3k A fiu T gei % W
fafe - 3x1=3
ATANS TAARTT
80° 79°30°

(A)

(B)
80° 79°30/



Note: The following questions are for the Visually Impaired Candidates only
in lieu of Q. No. 15 to 17.
15. Which of the following is the longest National Waterway ?
(A) National Waterway Number 1 (B) National Waterway Number 2
(C) National Waterway Number 3 (D) National Waterway Number 4
16. National Waterway Number 2 is related to which of the following rivers ?
(A) Ganga (B) Periyar
(C) Brahmaputra (D) Mahanadi
17. Choose the correct option related to the two end points of National
Waterway Number 2.
(A) Prayagraj — Haldia (B) Godavari — Krishna rivers
(C) Brahmani — Matai rivers (D) Sadiya — Dhubri
SECTION B
Questions number 18 and 19 are Source-based Questions. 2%x3=6
18. Study the given diagram carefully and answer the questions that
follow : 3x1=3
Inland Waterway
80° 79°30’

(A)

(B)

80° 79°30

64/3/2-13 13 WAV NN P.T.O.



(18.1) fean = 3w forg Sommt 9 gefyg @ 2 1
(18.2) feu U 3@ ¥ 3AfRd (A) 3R (B) TAMI & I 1 Ied hITIT | é%:z
(18.3) 3@ H feu Tu STl o Hg hl IREAT hIfSU | 1

qig: [AEliEd Jo7 F9c7 giRanaa ahendar & 7 Jo7 @ 18 # €9 W
&/

18. WY AFR 3R AT HFR hl ATSH AT T8 oh AT 1 Ie0I@ hIoTT qAT FEh]

forrgl g1 feriarett st s Hifsu | 1+2=3
19. fou 77U o=wg I LaHYEs® Uiy TR 3§k =l g MU woAi o I faifaw © 3x1=3
BINE))

gl ¥ hadl Th &I TS ToRd! §, 91 AU g H Tt 3N & H9 @
T 7 | 3 T MRl Td WIEEAT 3o+t Hohlt 8 foh gl & ush Trgfohet sl T[T
ot giveher 3 | gl st § sreemht fmior & waq 2, < fop @1 @ i dfea 39
2 a1 399 of ag h Hifeat IW A A 3 S8 T @ wE R UT 9T et
QU UNER &1 2 | 3 IR @ I8 Th HAL H 10 — 12 AN &d §Y oW ST Hehd
3 | I8 T YR U fqeeifan @gd o ol faR & fienfics sl o 3ehe
I TERTT ST 7 |

Aiferd el Sigd &1 RIS WEI % e 8, STUElThd 9MIed 4SS
o # s9ehl yert 3 | I8 W SHREd ToH, gafed g3 61 e (49),
ITEAfEd AU, g TH % 38 U TSE, &l hddl A0 SH Hiel hisli I T«
R Tl b AI-T1Y HIh HFieh Ferarui a Yid # FiHd qegam @ 3w
W AT S0 & | aet | gieer R (SfeE), el % o, Sheeehi
Td WO 1 HM, TReHd THS H W, I beF, FEe wEH fal (Te), g
(TeBee) 1 1, Ichse TV W, TAHS! hl THIhM qAq Feler 3fe vra

TG g WX % B e ST © |

(19.1) gt st Hifaes fedrfa w1 avi i | 1
(19.2) GWTEt 61 Th TG THET Sl SRS HINT | 1
(19.3) 9! o Tl T wes YRA e’ o YHE 3e39 i T HINT | 1

VWV

64/3/2-13 14



(18.1) With which waterway is the given diagram related ? 1

(18.2) Mention the names of places marked (A) and (B) in the given
diagram i+£—1
gram- 272"

(18.3) Explain the importance of the waterway given in the diagram. 1

Note: The following question is for the Visually Impaired Candidates only
lieu of Q. No. 18.

18. Mention the name of the canal that links the Mediterranean Sea and the
Red Sea and explain its any two features. 1+2=3

19. Read the given passage carefully and answer the questions that follow : 3 x1=3
Dharavi

There is only one main road that traverses Dharavi, which has been
reduced to less than half of that for most of its length. Some of the side
alleys and lanes are so narrow that not even a bicycle can pass. The
whole neighbourhood consists of temporary buildings, two or three
storeyed high with rusty iron stairways to the upper part, where a single
room is rented by a whole family, sometimes accommodating 10 — 12
people; it is a kind of tropical version of the industrial dwelling of
Victorian London’s East End.

But Dharavi is a keeper of more sombre secrets than the revulsion it
inspires in the rich; a revulsion, moreover, that is, in direct proportion to
the role it serves in the creation of the wealth of Bombay. In this place of
shadowless, treeless sunlight, uncollected garbage, stagnant pools of foul
water, where the only creatures are the shining black crows and long
grey rats, some of the of the most beautiful, valuable and useful articles
in India are made. From Dharavi come delicate ceramics and pottery,
exquisite embroidery and zari work, sophisticated leather goods,
high-fashion garments, finely-wrought metalwork, delicate jewellery
settings, wood carvings and furniture that would find its way into the
houses, both in India and abroad.

(19.1) Describe the physical condition of Dharavi. 1
(19.2) Explain one major problem of Dharavi. 1
(19.3) Explain the main objective of ‘Swachh Bharat Mission’ in the

context of Dharavi. 1
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SECTION C

Questions number 20 to 23 are Short Answer Type Questions. 4x3=12

20. “Nature and humans are inseparable elements.” Examine the statement

with examples. 3

21. How do landforms affect the distribution of world population ? Explain. 3

22. (a) Describe any three characteristics of clustered settlements in
India. 3

OR

(b)  Describe any three characteristics of semi-clustered settlements in
India. 3

23. (a) “Misuse of any resources will lead to fewer opportunities for future
generations.” Explain the statement with examples in the context

of sustainable development. 3

OR

(b) “Welfare approach of human development emphasizes on the
actions for development of human beings.” Explain the statement

with examples. 3
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SECTION D

Questions number 24 to 28 are Long Answer Type Questions. 5x5=25

24, (a) Explain any five factors affecting the uneven distribution of

population in India. 5

OR

(b) Explain the main characteristics of the ‘Phase IIT’ (1951 — 81) of

population growth in India. 5

25. (a) Explain any five features of ‘mixed farming’ in the world with

examples. 5

OR

(b) Explain any five features of ‘dairy farming’ in the world, with

examples. 5

26. (a) Describe any five types of ports in the world, on the basis of

specialized functions. 5
OR
(b)  Describe any five basis of international trade in the world. 5

27. Analyze any five positive effects of ‘Integrated Tribal Development

Project’ in Bharmaur Region. 5

28. Analyze any five utilities of ‘common property resources’ in India. 5
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B. TAITET ISR T Tk TIE &5

C. UR-ATSA i termnt & R &1 (fiaa) wRym

D. cferolt TR 1 T THE A aoH

E. TR % Tsh Y@ a1 97

F. Teh 3Tk STHT

G. Teh U@ AIUNEsd T8t

Fig: HEfciRad 597 Fac gieanaa qhemfdal & g yo7 &1 29 & € ®
&/
[Aeafeifaa 4 @ fa-87 giar 3941 & 37 90 : 5x1=5
(29.1) ST e & & yq@ fats guge & %1 9w fafaw |
(29.2) FIREN  fowqa AT S FY % Th IH@ & 1 W fARau |
(29.3) ‘“UR-EEAfEA wmnt & ufvedft R % (efiRe) wym w1 am

fetfiag |
(29.4) HATST o YTaHl q¢ W FE¥d T Y@ TG 9 1 19 fIRa |
(29.5) SIUM % Tsh Y@ aY U<+ 1 919 feafgu |
(29.6) TS TN 1 HaY [ohd TETGY § B ?
(29.7) IHCATH HRENR HR YR HEENR I ST aTel dias- T8
am fafey |
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SECTION E
Questions number 29 and 30 are Map based Questions. 2x5=10
29. On the given political outline map of the World (on page 25), seven

geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5xX1=5
A. A major area of subsistence gathering

B. A major area of nomadic herding

C. Terminal station of Trans-Siberian Railway

D. A major sea port of South America

E. A major airport of Asia

F. An inland waterway

G. A major shipping canal

Note: The following questions are for Visually Impaired Candidates only,
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name a major area of subsistence gathering of North America.

(29.2) Write the name of a major area of extensive commercial grain

cultivation of Eurasia.
(29.3) Name the western terminal station of “Trans-Siberian Railway’.
(29.4) Name a major sea port located on the western coast of Canada.
(29.5) Write the name of a major airport of Japan.
(29.6) With which continent is Rhine Waterway related ?

(29.7) Name the shipping canal connecting Atlantic Ocean to Pacific

Ocean.
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30. feu U wRa & TS W@r-AERE (T8 27 W), # fafafed g wmfas
wgvi 4 ¥ Tl wiw ® Iugea Tomi g oAfehd HINT 3R ek AW
fafaw | 5x1=5

(30.1) a8 HH JIEEIT g9cd Il T

(30.2) T Ic9Te | YU TS
(30.3) %! Il H WU T

(30.4) el : TG SigaTEe hHl @H
(30.5) SRII : T SMERITT
(30.6) UNIEIY : YHE HHI U<

(30.7) =EUETE : @ a1 I

Fie: [HAERIRET g97 F97 giRamaa ghgnideal & o yo7 ey 30 & €9 R/
g/

[efcifaa 4 @ fa-1 gier 3941 & 3¢ 5 5x1=5

(30.1) HI8 HH SHEEIT Icd I TT o1 W fafgu |

(30.2) W k1 hI-ET TSI T 3o H 300f 2 2

(30.3) Il I § il UsF &1 9 fafgu |

(30.4) heAl diFETSe hH WH forg U= | feaa @ 2
(30.5) 39 TST <1 41 fafau gt s ac sheHsen feog 2 |
(30.6) 39 TsA &1 A1 Tl Sl aRgiy 9t 9o fe¥ra 2 |

(30.7) 3T USA 1 M TIRIT gl Feeaaqy a1y oo a3 |

VWV
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30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with the lowest level of population density

(30.2) The leading state in the production of sugarcane

(30.3) The leading state in the production of coffee

(30.4) Katni: Major bauxite mines

(30.5) Barauni : Oil refinery

(30.6) Paradwip : Major sea port

(30.7) Hyderabad : Major airport

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state with the lowest level of population density.
(30.2) Which state of India is leading in sugarcane production ?
(30.3) Name the leading state of coffee production.
(30.4) In which state are the Katni bauxite mines located ?
(30.5) Name the state where Barauni Oil refinery is located.
(30.6) Name the state where Paradwip sea port is located.

(30.7) Name the state where Thiruvananthapuram airport is located.
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U9 E. 29k '%I'Q For question no. 29
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U9 E. 30k '%I'Q For question no. 30
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